Crash Course on Grade 1 Stuff
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Before we launch into Grade 2, let's revise the rhythm facts you learned in Grade 1.

Can you write the correct number of crotchet beats for each of these rhythm values?

I B B I PN TR

J

N I a5 A A O A

Remember the rule about dots? Of course you do. A dot adds on half the value of the note.

So J = J + J (which equals;ﬁ_ crotchet beats).

A tie, as you know, makes two notes of the same pitch into one sound.
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Can you write a single note that would be equal to these tied notes? You might need to use
dotted notes for some of them!
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And now, find a way to express these single notes as two tied notes!
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Introducing 5, % and 4
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Notice anything different about these time signatures? That's right, they have a ‘2’ on the
bottom instead of a ‘4! This means that the beats are MINIM beafs.

Simyle Du?le Simple Triple Simpie OuaéruPle

[rotchet beats %J J ,?:J J J J J J J
i beats |3 o 30040 50040

(same length as 2‘) (very long bar) (super long bar)

N

So now you know TWO different time signatures for simple duple, triple and quadruple!
(Adsance uarning: ue are actuanj going to learn about ANOTHER simple triple time signatore later in this book!)

In %, % and !2‘ quavers and semiquavers are usually grouped four at a time. BUT... you

can't group four together if you are crossing over two separate minim beats.
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You might even see eight semiquavers grouped together, like this:

This is fine as long as they start at the beginning of a minim beat!
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Complete these bars with quavers and semiquavers correctly grouped. Use any combinations
you like, just make sure the grouping is correct.
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M Hot TiPs on %

Although % and 7 look the same on paper, they really are different. Music in % is usually
faster than music in 2 and a conductor would do two baton movements per bar, not four.

2 is also called ‘cut common' time or ‘alla breve’. The symbol is €.

Compose four bars of 3 rhythm here:

— e p——_ & . _— e
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Qo ot Tips on 3
When you are trying to identify the time signature, % is easy to spot, as it has six crotchet
beats in the bar. BUT... do not under any circumstances write 2 as your answer! You must
write ?2’ (Just s0 Jou lanu, 2 isa cONP‘etelj Jiggereni time 5'Ignatvre and e |l be l&arning about 1t 1n Orade Y1)
3
2

Compose four bars of 3 rhythm here:
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iy fot Tips on 4

A bar of rhythm in % is ridiculously easy to identify because it is SO long. But even though
you'll find eight crotchet beats in the bar, please do not write % as your answer'!

Another thing about 4 .. you'll see that = is actually used as a half-bar rest! To write a bar

of silence in 4 you need a different kind of rest called a 'breve’ rest: =
But don't panic, you won't be tested on this in Grade 2!

Compose four bars of 4 rhythm here (it will be a itgle s(Luisle!):
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Add the Time Signature

When adding time signatures, remember that music in 3 and 7 looks the same. Either

answer would be correct... but for now let's practise writing % Also, read over the 'hot tips'

on the previous page!

1. Add the correct time signatures to these rhythms:
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2. Add time signatures and the missing bar-lines to the following three melodies. The first

bar-line has been done for you. Remember to add a double bar at the end!
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3. Here's a tricky one... the time signature and ALL the bar-lines are missing! The big clue

here is that it is meant to be four bars long. Don't forget the double bar at the end!
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Grouping of Rests

Whenever you have two or more rests in a row, they must be ordered so that they complete
the beat, or part of the beat, before going on to a larger rest.

For example, let's complete this bar with rests:

1. Always follow ﬁ with ¥ no matter what the time

signature!

(>}
ﬁ"f — 2. Add 7 to make it up to a crotchet beat
3. Next add 3 to complete the first minim beat

4. Fill the rest of the bar with two minim rests!

Important rule: In % you may need two minim rests in a row to complete the bar.

Don't be tempted to use ™ instead... you may not group two minim rests together in %!

Now... if you are asked to fill in rests before a note in the bar, just work backwards!

This semiquaver needs a vl just before it to make it

up to a quaver beat, then a 7 to complete the crotchet -

5
vad
1

beat, then a 3 to complete the minim beat. Then you can —%
add the - at the beginning of the bar! (Do all that nou)

This bar's rests are incorrectly grouped. Rewrite it with the rests in the correct order:
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> — - / P 3 * 7 3 =
& 1) € 7 ;
4 f

Here is a typical exam question:

'Add the correct rest/s at the places marked with an asterisk to complete each bar.
See how it says rest/s? This means even though there is only one asterisk, you might need
more than one rest to complete that bar! Try this one:
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A New Sharp Key

-

Remember C, F, G and D major from Grade 1? Here are their key signatures:
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C major F major

G major D major

There is a new sharp key in Grade 2: A major. You may have played this scale on your

instrument. Its key signature looks like this:

%%\

ﬁmaJOr Marp ﬁslwary anJG Larp
Notice hou the
than the [ Larp - imPOrtantl

sLarP is uritten ngker

The reason A major has this key signature is because of the patterns of tones and
semitones in the scales. You probably remember from Grade 1 that the pattern is

TTS TTTS. Let's look at the scale of A major:
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The F, € and 6 must be raised, otherwise the pattern will not be correct. This
is why A major has F SHARP, € SHARP and 6 SHARP.




Two New Flat Keys
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There are two new major keys with flats in Grade 2.

B major o ED major o flats aluags appear in
g): L"r) &) Ihlul this order: b E A
|7 Py

How many flats does e major have? S How many flats in Bb major? 2

NJ P
Y2 <
A

Do the flats always appear in the same order?

Write these key signatures (uatch oot for clef cLanges!)i

5 » -
17 rax [ yax { [ 1
7 N — e [ DT - | 7 y AW
[ & an Y A ! y AN [ . W4 J
NV 4 T I ANS"4 i
[, [y,
B major E major Bb major Eb major

These two keys have exactly the same pattern of tones and semitones as all the other
major keys we've learned so far. This means you can easily write these scales below. Write
them in semibreves, and mark the semitones with square brackets.

*x Bb major, treble clef, descending, write the key signature

= O

L ¢ © o

* E major, bass clef, ascending, use accidentals

)

DID YOU KNOW... ‘Hou To Blit;! Hej Signatwe; Is the Perfect book to MP

cYou learn anJ memorise jovr Lej s’lgnatvres!

11



Major Keys Quiz

m

_ G
1. Name three major keys that have sharps in the key signature. _‘\x D and _A

2. Name three major keys that have flats in the key signature. F_.. B 4

3. Which major key has no sharps or flats? __ m.a \ Ot

o

4. Write the scale of D major, using a key signature, in the bass clef. Write one octave

ascending in minims.
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5. In the scale you just wrote, mark the semitones with square brackets.

6. Circle the correct A major key signature (it must be correct in treble AND bass!).
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7. Write the scale of EP major, using the treble clef. Do not write the key signature, but
include any necessary accidentals. Write one octave descending, in crotchets.
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Tiny Test
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1. Add a clef and key signature to make this melody into Eb major-. A
Then add the missing time signature!

s * e o 0.
e e T PO 1 » -
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) ) TN ,; —n - 3y A A
2. What is the time name of the longest note in the melody? Lotlco Seporeve
3. Add the missing bar-lines to these melodies, then name the key of each. A)

(Don't Eorgef double bar=ines at the end!)
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<V - — B I | a ¥,
[Y) - 1 }
4. Give the letter name of the notes marked *. Make sure you include the flat or /8

natural sign after the letter name, depending on the key signature and accidentals.

‘9 * * * * * * * *
| — . | - e - | —
7 7 | [ [ I | | I V4 I ]
& = o [ ote s oha e —t
e o C A”
5. How many ties are there in the melody above? How many slurs? _— A
6. Rewrite these notes in order from longest to shortest. /6

Mo dldDd o d b s
Total:AO
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The Triplet
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3

A quaver triplet looks like this m or this . It is equal to one crotchet beat.
3

The formal definition of a triplet is:

‘Three notes played in the time of two notes of equal value' (learn this!)
3
5o Jde = ed : o4t 1

A friplet ALWAYS has a number '3’ on the top or the bottom of the group of quavers,
otherwise this grouping would be incorrect. If there is no number '3’, then it's not a triplet!

Fill the following bars with quaver triplets: (don't Ewget the nurnber ‘)
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More Triplets
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The thing is, there are actually LOADS of different types of triplets, not just quaver
triplets like we did on the previous page.

Crotchet and minim triplets are not connected by a beam, so in the table below you'll need

to draw the bracket connecting the notes, with the '3' over/under the middle note.

Make them into a triplet by adding another
Take any tuo note alues ’ ﬂot:a:() P:PP":ga%)a% :ie:‘ The value stags the same. Noy use the tr'lylets 'lnar‘vcytl\m.l
J J 33— A —3—
J J /S R B s e B
33— fam .= ? 1 i
. ) 4dddddd
iy = 2 J 353357

The following rhythm looks as though it has wrong grouping and incorrect beats... that's
because the triplet signs are missing! Add them in, then try clapping it (ubich s qite £r'rck5!).

3 “{J =y v — 3—

[>) : o
[y ) | -

Add time signatures to these complete bars:

——3— —3— ——3—

)
J | 1
1]

Compose your own two-bar rhythm here, using as many types of triplets as you can!

That's a lot OE notes, eh?

15
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Even More Triplets (il
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Triplets don't always contain just notes. Sometimes you get RESTS inside a friplet (3asp).
3

3
So instead of you might see 7
3

If the rest comes at the beginning, you'll see a beam AND a bracket: 7

—3—

| 3 1
Also, instead of J J J you might see J 3 J

3
And... sometimes there are uneven values in the friplet (more gasy'lng). So instead of
—3— 3

you might see J ‘b or J 7 (see how we need the bracket now that there 15 no beam?)

Add the missing rests to this rhythm with triplets:

o —3—
3
%L -
——— T T l — — 1 |
3 —3— L—3—

— o L] I. 73 3 j L] \.
| / e | VAR & i /7 | | | I L I
; = 14 T ! . 1
L5 3 —3— 3 3

bood work.

If you have ever played any jazzy pieces, you might have seen this instruction:

g i s

This tells you to play in a ‘long-short' rhythm instead of even quavers, which is known as a
'swing’ rhythm. Now you understand the theory behind it!




Rhythmic Revision
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Figure out how many beats are missing from each of these bars. Then complete each one
using any sort of friplets you want! Use a combination of notes and rests.

e s e e e !?; 2 i PIrF PP
3 3 3 —teeed — —
3 3 5 —3 : 3 33—

B e e = . —t—= < i

:‘!ﬁjﬁm — e

How many different ways can you think of writing one crotchet beat? Write them all in this
box. Some ideas are there to start you off...

i | a\\ .'y, 3(5
® 9 ® Je® Y
®
s ®
»,f“? | |
7 9 ® oo

Add time signatures and the missing bar-lines to these melodies ('rncltu}'mg dovble bars, oE coursel):

0 —3— | oo’ o T
[0 ) N N =~
b D) | | y ] |
(> ! o g o® ® ¢ ¢ i
NV £, 07 0 I
[Y) v ® \ 3 1_3_l
4 | —3—1 == —3— 38— r—38—
in e } f . l o ¥ 5
'S hu 2 &> =‘| -‘I- é P i | ‘A ;i i
v 5 T v T gZ
r 3 |
. . . s
Trick question: which has more beats, J J J or ©O? Tfkm (€ £ Mg
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Leger Lines
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In Grade 2 we need to work with notes that are up
to TWO leger lines above or below the stave, but
of course there's actually no limit to how many you
can use in general music!

e—

—

119

Wou! What note s
T2

All of these notes are referred to as notes 'above’ or ‘below’ the treble stave. (The notes n ae

are pot leger line notes, obviously, bt they are also refeneé to a5 D belou the staie’ et

(s
SV

G A B C A B C D
And now here are the bass notes that live 'above’ or 'below’ the stave:

o o = p——

4 I,;

s = © =

B C D E C D E F

Sometimes you'll need to draw notes with accidentals on leger lines. The width of the leger

line does not change.

The s‘varP does NOT need its oun leger line! Tt sort
0)[ 'wangs in the air, in [ine vith the note.

a
—

bj the uay, Jhat nflte
is this? (j*

Remember to keep leger lines spaced the same distance apart as the staff lines. Draw the

line or lines first, then draw the note, then the accidentall Trace these then draw your own,

including accidentals of your choice...




More To Do With Leger Lines
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172 It means fo play an octave higher than written.

grammmTTmmTTT 1 o y 3
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You can get rid of leger lines by changing clef: f: —— becomes —

g

Write the equivalent sounding note for these. You won't need leger lines in your answers!
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'Y,

l
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I

=

Try rewriting this short melody in the treble clef. Follow the shape exactly and keep the
rhythm the same. The only thing you'll need to change is the direction of the stems.

5 - ;:&1'9
I #ﬂ }

B | EGFA e

o = = =

01D YOU KNOW... read'lng owsic with lots OE leger lines can be rea“J annofing, 50 composers

Og’ten c!»ange cieES or Use i‘\e 6\/& s'lgn. Isn)t ﬂ\at 50 nice 0£ d\em???
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Ten Tasks GLa T
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1. Here is a melody in BY major (although it doesn't look quite right, does it?). Do all the
things listed below to make the melody completel

2™ o
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[ . | 1
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I
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f.
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Add the correct clef

Add the key signature

Add a triplet sign to the quavers at the beginning of bar 2
Add the time signature and missing bar-lines

Draw a circle around the lowest note

Draw a square around the shortest note

* % % % * % »

Add a tie in an appropriate place

There! It's done. Now play it or get someone to play it for youl

2. Rewrite this melody with correct grouping/beaming of the notes.

Q
MY ) D]

W NN N — | b
2 , d - : N

N g

ggﬁ I e i @ >

Y 4 ) 1 1

3. Name these notes.

iy b
p (bo) _to N , be
) 7 & r .
A4 ANIV.4 ANIV4

B DF Bt CH Ch

4. Circle the note in question 3 which is the 5th scale degree of £ major.
20



5. Name these scales.

%\ " . * o |

e \ [
[ Fan !  S— 1 ] hal ® &

D

Scale: /\ ool

AN3"
e) ' ' |

r .
Scale: eV MO OY

'
H

be

o~

7. Add a clef and accidentals to make this the scale of B major.

i . b
i {

I : o0 O Now make all the
!
I 3

notes into minims!

~~

8. How many planets are there in the solar system? o} (Yot essential (rade 2 knouIngeJ

9. Add the correct rest/s at the places marked * to complete each bar.

Tr'iclxj!
* —3— * * * 4)

1
#
i

¢

Fan i

<
‘C:‘
i
¢
{

] : I
e i |

10. How many semiquavers are there in a dotted semibreve? (Hint: LOTS) __ 24

WEH Jone on cOmPlef'lng a“ 10 fasks! Nou g0 'JaC|< an(} c‘secla a“ JOUr uorlx.
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Introducing 3

<€ >

For the first time, we have the number '8’ on the bottom! The '8 means quaver beats.
Therefore, 3 means three QUAVER beats per bar, simple triple.
It's just like 7 but with quavers instead of crotchets!

JoJ.

ob ) = three quaver beats per bar =  simple triple

three crotchet beats per bar = simple triple

oo AW

You will usually see all the quavers in the bar grouped together like this: m
This is quite OK... % is the only time signature in Grade 2 where a group of three quavers is
allowed without a triplet sign!

There are lots of possible groupings of quavers and semiquavers. It's also quite common to
see dotted quavers and semiquaver friplets. Check out this melody:

i 4 = I _J_‘ !l
q1 o S
o) | & @ »- / 3 Ej /J &
% is the ONLY Orade 2 time signafvre in ubich Tr'lpiet.' Ettual bo Anj OE the quavers can 5Pm into twe

JOU)” see 5.lx §Em'l(l)Uav8r§ SrOUPed tOSEtLer Sem]qyuavers “ﬂAef t'\e same Leam

Rests in 3 should be kept separate (just like 3 and 3 ).

g J\ 7 7 is correct, however g ) : is notl

Complete each of these bars with quavers and semiquavers correctly grouped.

A : 3 i) )

1y ! 1 l H i . |

U 1 I 1 g v | 17
7 . T




Short Quiz on %
<€

—

1. Add the correct rest/s at each place marked with an asterisk. Remember, you may need
to write more than one rest!

* * * *
—' = [ @ I" [ V;'j I= ; I= -
] 1 é ~f [ [ ] I
3 3

2. Did you remember to use a whole-bar rest in the last bar above?@yNo (IE not, E'lx this nou)

3. Complete these bars as directed

one note one rest and four notes

4. Add the bar-lines and time signature to this melody. (fos can ProLaHJ quess uhat the time signatore s,
given the title of thi page)

E—
- 1 Py
- ) >~ - 0
===a=—=—=———arc>
—_—— == .
3
T 5
5. Name the key of the melody above: __ L) 1.0
6. What does the '8' mean in the time signature of 32 __ Ju 0w e pea s

7. Look back at the the melody in question 4. If you were to double the value of all the

notes and rests, the new time signature would be 3 . It would look like this (see if you
can finish it of f):

\ [r— P \
ot 3 s [F - 1
Ly e | | e —

— I | I
3
3

8. If you doubled the note values AGAIN, what time signature would you get? __ 2

23
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Time Signatures We Know

>

Write the definitions of each of the time signatures below (e.g. simple duple). Then
compose two bars of really creative rhythm with correct grouping of notes and rests!

) - . . . .
(Don't vse oo many minims or servibreves — make it lnterestlng!)

Time sig Defition Compose tuo bars of nteresting rhyth
2 Stmple dunple d J | JITd
3 : LI T
ForC| st » 7 ddadd t!‘f.J:J‘ Jidddt

DO B oot o

Once you've finished writing your rhythms, clap them to your teacher. Then choose your
favourite rhythm and extend it by another two bars... and write it down here!

E.

—_— rm—

Fia

1 l
I 1
7 ey 11

[@] A B N W ) i

—_——




Timed Test

ime:

- >

Time yourself doing this page. Do it as fast as you can, then record your finishing time
above. But... guess what? Your teacher will ADD ON 10 SECONDS for every mistake you

make! It's fun to go fast, but it's more important to be accurate. Start the clock!

1. How many quavers are there in this note? O-. 12
2. What is the definition of a 'rr'iplef?ﬂ!}\ cee notes plaved of
3. Name these major key signatures.
% | ‘ 4 #
1 .o ¥ i d o |
| e L Y 4 e hdl PR/
| fan YWl 7 1L [ & an YA AR
ANRY4 bl SV |7
[Y) [Y)
ED by T MO\ OF A Mg o1 % O\ TT
Py )
4. Complete this bar with rests: %;ﬁ Ca—a — = V)‘\
“ 74
¢
5. Name these notes, then rewrite them one octave higher, using leger lines.
#o pe- e
I i
# oW~ . | 4 Q\
P> I "y O F 4t ]
| fanY 4 | Fan) Ly
-V sV i
[Y) o)

hu

{

Fo A
— \

[ A—

» |
N T NOVE
)L I

6. Who wrote Beethoven's 5th symphony?

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

After marking this with your teacher, tick one of the following:

[ made no mistakes! [

eep time o)f

[ made _ istakes.

| My new time 1s .

25



26

Major Keys Have Minor Relatives!

>

<z

There is a minor key that has the same key signature as C major. It is A minor. This means
that € major and A minor are related - sort of like brother and sister! Write the key
signature of C major and A minor here: (r'lJ'lcU’OUSZJ‘ easg)

y 4% Y 4

[ fan) | fan)
oV

D% [y
&) 'Y
) * 5.
V4 y 4

C major A minor

* Can you think of a word beginning with C and ending with A? Cuba *

G major also has a relative minor - E minor. This means that 6 major and E minor both have
the same key signature. Write them here, in both treble and bass clefs:

7
[ Fan) - | Fan
ANS", AN374
e [y,
Ml D53 )
A 7
G major E minor

* Can you think of a word beginning with 6 and ending with E? Gome

Finally, F major's relative minor is D minor. You guessed it... their key signatures are exactly
the same. Write them here:

o

| Fan Y4

AN

(Y] [Y)
4 Y] )=
o T Ml KX
@]

F major D minor

e |

* Can you think of a word beginning with F and ending with D? FU\«‘V*



The words you chose on the previous page will help you to remember which
keys are related to which. (The Eirst letter oE your vord s Eor the major key and the last letter

-

Remembering Relatives

is EOr the minor kej.') Write your words and key signatures into this grid:

Relatiies

Word to remember relaties

fly signature oE these keys

p
C major &
i T UALD O
is related to A DO )
raxY
A minor o
e
6 major /-
is related to O0_ME, o
. ; et
E minor - R
’ JE
F major 7.
is related to o
i 4 YOl
D minor GES

So now you know LOTS of key signatures! Let’s practise some (atch oot fw c]eE cLangesJ:

! n ] (L Q %
o, 1 D 4 D - [ ]
7= (e 7 i (o s
i AN3Y ~ i3 AN
[y, [Y)
£ major A minor D minor A major BV major
M . 0 ! 47
#‘P > o A S R ,QL*E"'
[ Fan VA : [ 7 an W7 A =Y | £an
SV il SV / SV
[y, [y, e
E minor D major D minor BY major G major

27
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Minor Scales

< >

Now that you know the three minor key signatures of A, E and D minor,

A

it's time to learn about scales in those keys.

There are actually THREE types of minor scale:

NATURAL MINOR: Exactly the same notes as the relative major scale, but starting three
semitones lower. Since there are no changes it is hamed ‘natural’. Here is the scale of

A natural minor:

e; Py O © o o
> O ~ ~F [® ) ="

~F

(@]

{0 —©
ANSY
'y,

HARMONIC MINOR: The same notes as the natural minor scale but with a raised 7th
note. The raised 7th makes it easy to harmonise (i.e. to add chords), which is why it is
called ‘harmonic’. Here is A harmonic minor:

E; o fo © f#o o
P [(® ) ~7 hal o - (@] o>
y ol p= (@) o © O p=
| & an) [© ] ~F ~7 O
<
[Y)

MELODIC MINOR: Sort of a combination of the above: raised 6th AND 7th on the way up,
and natural minor on the way down! (Hou very comylicateé.') This form is much easier to sing, which
is why it is called 'melodic’. You guessed it... here is A melodic minor:

‘; 4y fO © HO  he
p=~ [ @ T~ = 1 al FO—<>y p=
A\ w 4 T T \ -

Y 4 (@) (@]

P
A (@)

[ fan MK © ) o

\\SY
[y,

In your exam you won't be tested on natural minor, but you'll have to write EITHER
harmonic OR melodic minor scales. Yes, you actually get to choosel (Houerer, J"“l” be so 5003 at both

)forms by the time you have EinisLeJ this book. that c‘\oosing uill be Jig'iculi.')

7<' DID YOU KNOM... the natural evinor scale is also knoun as the Aeolian mode.

& Discus\s t"ﬂS more ulﬂy JOU{ feac’\Br!




Harmonic Minor Scales

- >

Since you know the key signatures of three minor keys, writing harmonic minor scales in
those keys will be easy!

Write the scale of A harmonic minor:  * use a key signature
* write one octave ascending
* use semibreves

é; . Ho S
> " = (o I~ 1
Fan

{ [ )

NSV
[y,

1)

Good work! But guess what? The scale is not finished yet! As you learned on the previous
page, in harmonic minor scales you must RAISE THE 7™ NOTE!

Now, which sign is used to raise the pitch of a note? \Shar:ﬁ/ Flat (circle correct ansuer)
——

So now find the 7th note of your scale and draw a sign just before it

Write the scale of D harmonic minor:  * use accidentals
* write one octave going down

* use semibreves

9 ~ 1
Y 4 b LT )

[ an) & Ay
D —

7~y -
- W) z =

Have you added an accidental instead of the key signature of D mlnor')k\/es V No
Did you also remember to raise the 7th note? Yes / No (find Hjou count vp grom the lowest note? w o)

Great job! Just remember: when writing minor scales with accidentals, you ALSO need an
accidental for the raised 7th!

HOT o «‘ nle raISGJ 7H\ in a '\armomc Minor 5cale Is ap
HP MCIDENTM I{ never aPPears in ﬂve Leg slgnatwe
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Melodic Minor Scales

€ >

Play some melodic minor scales on your instrument, or ask your teacher to play some for
you. You can hear the changes ascending and descending: that's because we raise the 6th
and 7th degrees on the way up, and lower them both on the way down.

Try adding the correct accidentals to this A melodic minor scale:

,( i [] il
[ fan Y . B P [ @ T =
& — e O O T —— "~ o o

These tuo notes will need to be raised These tuo need fo be louered on the uay
uit‘\ S lrﬂ‘f 0 5'Isn5, JOun u'luv (\,(L'-:( l/\‘f'fi,iu‘s'lsm_

The D melodic minor scale is a bit trickier, because we need to use a natural sign as well as
a sharp on the way up, and a flat sign as well as a natural on the way down!

ﬁqi S O © O — w7 _— — © o (@) P
7 \~7/ '\‘ '177 ©O
1 LIl
Rase both OE these notes. Onlj Louer these notes. One 0)[
one O)E theen gets @ s‘\ar?! then needs a Elat!

Another interesting fact about melodic minors: if you are asked to write the descending
form only, you don't need any natural signs. In fact, if there is a key signature you won't
need any accidentals at alll Here's E melodic minor descending:

Qo ——/ The Gth and Tth notes don't need naturals because we

~ (@] O
~F (@) P

i haven't uritten the ascenthng EOrm Jith the J\ar?s.l

I
NG

X INTERESTING FACT: The melodic minor is literally more ‘melodic because it gets rid of the three—semitone gap

(called an augrented Und') betueen scale degrees b and T of the harmonic minor scale, uhich s a very aukuard intenal
in melodies. We'll discuss this Surther uhen ue do melody uriting in later grades!




Awesome Accidentals

=
Add accidentals to make the following scales correct, then add a double bar-line.

<=

i’\n o—o LQ i (L s )
1 7O (o] P=S S — ; armonic minor
[Y) = 54
( l A . ) ) 7 S o
melogic minor V4 —_ o = ixe) xS
-©- O ~
;
= e—o——o 0 (. il
& o o 7 major, uih Jlai
g ©
) © Ho—#g
( . ) iy 1 B2 < o T—
maJOr © O
,‘? O o O . .
5) —© O oG — (melodic minor)
() T ha
. rax bo © O —
(maJOr, ith Elats) ¥ ——— O © oo
g} o
‘,9 o—© o il o = —
o — f (maJOr)
<V 11
[Y)
Add a clef and any accidentals required to make this into a D melodic minor scale
]
¥ 1 1% |
2 T Q) ~F 00 -
(N O (@] % Inmd bl S [@] O
Y P~ € ~7 e ] O

Have Jou P'aced a” OEJOW acc'l(}enfals WURE tl\e nOJLes?
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All About Scales

=

1. Write an A melodic minor scale ascending and descending. Use a key signature, but add

all the necessary accidentals! Write the scale in minims.

|

)

i

Pl
)«

1l
i

N
QLLL

~

p]

=
=

. “_",.;J

N

[

ﬁhﬁi—o

5. Write these key signatures (uatch oot EOr clEE c‘wang%.l],

Il

— Yo ¥ A T T — e 1 Y AN A Y 4\ [a)
A - [ fan VARG [ Fan T [ & an TS
el AN 4 AND4 AN
[y [y e
E minor A major D minor D major BY major

6. Add the correct clef and any necessary sharp, flat or natural signs to each of the
named scales below. Do NOT add key signatures.

A O 1 t
Fi I @ ] [RIP=Y
1 Th T Sheid [(® ] Pay
N i ~F [© ] Py
. ~ O
|
N\ .0
('; 4 P O © =
¥ [ Pay e ] 7
po—O —

D@oymelodlc minor
((;Ircle youmotce

B major



Major or Minor?

>

It's really important to be able to work out the key of a written melody. There are three

clues that will help you find your answer:

1. The key signature - this could represent major or minor (revise (REmemLEring Relatiies” on page 21,

2. The last note - melodies usually end on scale degree no. 1, the 'tonic’;

3. Accidentals (uarningi a meloaj may still be n a minor l\ej even 'iE there are no accidentals — check the last note).

Look at this melody:

“eg a'lgnatwe indicates

0 major or [ minor

Here is another melody:

Which two keys share the key signature of B> F M GLOY

[ & .
LG T e T e
[y | = & = -
No accidental {o £n35 opa (J 50
ralse tl\e 7“\ must Le 6 maJOr
|
: -
%"i | | \; I. i—ﬂ“} = ‘-_1— ! ! -
' == | ] I
and D Y, .-;5 O

So this melody must be in the key of D oewnor

What is the last note of the second melody above? D Are there any accidentals? Yes - C

Name the key of these short melodies. Remember your three clues, and check the clef!

0 & . -

o o 7 . fo¥) |

y Jimis s \ -t > | fey:
[ fan o ] i el i I — AR
ANBV A W | ! 1 |

[Y) |

0 |

A —— — o i Key:

e I §
0y, oo oo SJeg *

o - -
T F s s e — X
i 1 ks

' e ——— '

 referred to as 'melodic minor' or 'harmonic minor'l

"/ IMPORTANT: Melodies in minor keys are just called 'minor'. Only scales are
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/ Clef checked
[V]

Last note checked

Name These Keys

>

Key signature checked

' Accidentals checked (Warningt a mEIOJj
that has no accidentals casld still be in a inor lxejl

Muaja check the last note.)

| C e
] | ] VA OSY
. % o > [ IYLOW O
. D > ) l ) = 77 ey J
() Y Y o
”':‘{_i L‘.' ".,,f‘ i ( '..‘g bt f’\- , \ &
3@ i i fr— T
2. 1Y | | \ Key: \/
iHr J @ & :
) p
2 1 L, =« Ud, 2.4 W o
{ A - AN £, U LY
3__1 .
#
i O ) N N .
3. e OF: W~ — l J Py 7] Key'
7 "1 Z | ® P
A 3 | I <
f ] |
4 Il [ 3 -
AXE . ] PN — .ol N €
4. ¥ S —  — | Key: MO,
L= = ) @ [ S | =
[ Y [ ' =
i St 3ed S i |
P Vo) i
ﬁ | i N . %“ "\
5. —I. ) 'TLJ_- r | e Key: _/1 I J
|
3
%j Il . ,F R
6. | = | | 3 Key: = I
U d
e
7. - - Key: L
] |
Y] I . I—
L 1 iv__ i Jod 2\ \{S'
Fhe by wee. £ % —#,F BP ma
8. 75 € & S i — — I ] d‘ Key: DM
P € — 1 4 f A
3
34 | ol ! leL
ol =A 5T



Scale Degrees

-€ —

Writing the scale degrees in a melody is easy - you did lots of this in Grade 1! All you need
to do is work out the key (which is sometimes told to you, yay!) and count.

i

The following melody is in _7\ _major. Fill in the missing scale degrees:
9 2 # - o £ -
A4 S —— ﬁ < 1 \ et
| & an WS 7 7/ 7/ "4 / . | | . ]
ANS74 ! 4
[y,
bth | St (Lt Ukh _Acd £ ST

Notice how that melody did not start on the 1st degree of the scale (the 'tonic’)? This
happens a lot - do not assume the first note of a melody is scale degree no. 1!

Now go back to the previous page and write the scale degrees under all those melodies!

Another type of task you'll come across in your exam is this: you are given a set of
individual notes, and you have to work out which key they all belong to. You have to look
carefully at which notes do and do not have accidentals:

E’/\He note Db i TEOM in fmaJOr
E b maJOr am}f major
%

0

) %)

There's no fgat here! That rales ~o
oot bb and major These tuo notes oceur in many lx{fs

So, taking into account the accidentals, the four notes above must all be from the key of

OO . Good work!

Name the key of these sets of notes:

S = — major

>

L/ major

+@+@——

-©-
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Intervals

<€ >

Intervals in Grade 2 are just the same as Grade 1 - easy! Some quick revision points:

* The lower note is the tonic (no. 1); just count up to find the name of the interval.
* 'Harmonic' intervals are written vertically, like a chord.
* ‘Melodic' intervals are written side by side, like a melody.

Write the following melodic intervals. Remember to write your note next to the given note!

o

pi v o

2 (@)

ava s
)
3
[
B
]

B
pii

N
N
N

V)

c@%

0
o)

6th 4th 8ve 7th

In what key are all of the above intervals? __ .

~

If the given tonic note is very high, you will need to use leger lines to draw your intervals.
Trace these intervals with leger lines, then name each interval.

=

i ol ok 02w H e B o =i
. . . 4l‘
lines, trace the line Eirsf, D
| Y}
then the note! 5 L ] -
! Scd {nd th ot By [
Write these harmonic intervals above the given tonic notes (Jes, Jou)” bave fo use leger lines):
’ L
;Q | s = - xex Mo X oS-
5 — — — o .
S G—
[y,
5th 6th 4th 3rd 5th 2nd

These melodic intervals have the lower note as the SECOND notel It doesn't matter... the
lowest note is always no. 1. Name these (they are all in A major):

O

4—# Jlﬁr < © Y Py £ P = Pa
Y AWt — _ﬂ': ﬂu.'l'g'r © © ©
| & an WL <y (@] ~F O *
KV V4 1L
Q) bl
e Bve 204 Z,;—;. ca




1. Above each note write a higher note to form the named harmonic interval.
The key is B major. (Watch oot uhen Jou urite a Ind = s the only one that von't be ‘aboue’)

Quick Quiz

{1 _ == v
7 I ~ 2
{7~> © © -© © o ©
ANI4
)
5th 8ve 3rd 7th 2nd 4th

2. Write the scale degrees under the notes marked with * for this E minor melody.

/6

n mn * * * * * * *

ATHT > S B o o — 2
[ £anY = | [ | | el I | | | r
V4 | I I I | ] [— &

>y | ' | -

1st Sh 2 7 ni Sy Zcd

3. Name these notes. To which key do they all belong? D mo A
_{) — &
i 4 P ~ NS )

| FanY Lh ~7 Py

ANS"4 <y 7

Q) I

4. Worite the scale of D minor descending in the bass clef

1\
-1‘.-,"

, In semibreves,

without key signature but with accidentals.

) ; |
=2 4o bo o

) S——o \

[

S’ [

5. Name two important ingredients in macaroni cheese.

1
ral = C A P R
&/(\/{‘/E‘E)’ < ‘:i Clnd i Y\ A )\ \ ¥

5 R,
O

onLC

et

/4

Which form have you used?

l‘-‘. | {

Total: A5

/4
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Tonic Triads
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As you know from Grade 1, a 'tonic triad' is a chord of three notes built on the ‘tonic’ (scale

degree number 1).

Complete the rest of these tonic triads, which are in all the new keys for Grade 2.

9 | o 9 u ~ 4 2
1 7 % e ] o LT [ . el o <)
g hH o4 il KWV V4NN [a»] il DN Fad y AV

| 2w N el 7 ! ~ | & an YL | £ an ) 7 h b | £ an)

sV vV 7 = A4 VYV =) v VYV

DY) - 1Y) Y] = ()

|

. 2
] - NS | N S A

'3y X AN O N
[ FLL Ly VVLAIU 1 YN U L

= =8

AN O £

When naming the key of a tonic triad, you need to check three things:

1. The bottom note of the triad (also knoun s the root’)
2. The key signature (?E given)
3. Accidentals (5[ g'wen)

Now you can go back and name all the tonic triads abovel Then name the key of these:

!; # < Q f) - m
-3 B4 . N & <) )’ A P4 ey ¥ 1
1 © b T o). L (@) y © bl - FTRL (@)
[ i an YL 7 5 (@) 7 | YA 7 1 (@)
ANDY 4 v (@) et ANIY bl [@ )
e O 'y,
5 T G i . (Y .
Mo Lo oo DI = NanLDr L/ toaun g

Sometimes tonic triads are written with accidentals instead of key signatures. Watch out
for the difference between major and minor:

= 5

7—8 48
e 8 -$3 1 <y ey
ry) O re ] o
D minor ) major A minor A major

And check this out... the tonic triads for our two new flat keys look quite different when
written with accidentals!

38
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Terrific Triads
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1. Name these tonic triads. Remember, check the bottom note and look for accidentals!

‘g ] Pay LS ] =4
¥ 4 h o =4 hed 2= 4 P
N a0 =4 S (@) k@ ) e ] = S
NV 2 Y= 4 ~7 [ 1eYy S
o 7 © O ure S
| ; . > r
ED .G { CT Y Ot r MAN 0T 1’ nay Jr‘ﬂ.f‘d 5 (AT 1) fa
2. Write these tonic triads, each with a key signature. Watch out for clef changes!
-~ /R a—=R :
7 rr—8 (" 1T—5 7 = 7= (e 'S4
i (@] ANSY4 ! = v v . AN re
[Y) = Y] 1=
A major Eb major D minor Bb major E minor
3. Write the tonic triads for these MINOR key signatures:
49 (o) = () 4
Y 4 Ih bl | z 8 5": 1 ot ’{ " =
a1 .4 | £ anY 2 b [ fan =
ANDY4 (4] ANEY A v AN =
[y, o o
4. Write the following tonic triads with accidentals. (fint: one of ther von't actsally need any!
=/ : ) : 7
7 4 V= il D K] Y A Wil T 5t Y 4\
| £ an) IS4 7 LN ) [ fan) 1103 A 2V —4 [ Fan) (@]
~V S T D AND"4 ﬁ'Lf"f P AN’ (@]
D ) TO D)) =
e major A major D major Bb major D minor
it Jou check the cief?
5. Name the notes contained in a D major tonic triad: D " _F
6. Which triad is made up of the notes A, C#, E? A mogor
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Accidentals — Key Signature
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When you convert a melody from accidentals to key signature, the sound will stay exactly
the same. It's a simple matter of changing the look of it. For example:

"li-' : T&T L 11 1 =
— sounds just like -
[y, — Y] _34‘_1
3

!
)
3
i

ottt

K

) / Wy @1/ (Bl y
1 o T | .
_Jg I @ ~ Sl N | A -
— | —H -2
T T

T 17 ]
[ el 4 [ 3 3 g —

etjsréb

1. Cross out all the accidentals relevant to the key signature. In this case, it's all the B
flats and E flats - they will ‘disappear’ into the key signature of BY major.

2. Circle all the remaining accidentals - these must be included in your answer (because

they are not part of the key signature!).

3. Write the key signature (and time signature) on the stave below and copy the melody,
including only the circled accidentals. That's all!

0 | o2 h . ~
A = T T A '—T‘l"'] r’;
" Ly - 1 i
| an W I o P I I — T 1 T o
AN 74 = 1 1 T 17 T — T ] ] ) I — 1 ] T
[y ‘ ! I = 3 3 = N

g, TOP TIP: In the exam, the first few notes are usually done for you (w00 hoo!) but you
MUST remember to write the key signature! (foi'd be amazed af hou many ?eoPle Ewget to do this

Here's another melody. Rewrite it with the key signature of D major. Remember your three

steps abovel!

E RS
C

+ p— e e :
e ! e e e e k{2 Fre
: ‘1 ~ 1 1 .——.% ' + i 5’ .' i

)
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Key Signature — Accidentals
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Great work on the previous page! Now we're going fo do it the other way around: converting

from key signature fo accidentals. Let's try a melody in A major:

H o &
L Lh - b } L Y. [} 1 %.-/\
o ¥ T = } ] ] 1 4 r =
Ml K Fus] i - f Tl - ? I I
y_ AR I A L | ] | | I
T LI

SR

Ll
N

{ {4

1. Write the sharps or flats from the key signature against the relevant notes. In this
case, that means find all the Fs, Cs and Gs in the melody and write sharps next to them.

2. Cross out any repetitions of sharps in the same bar at that exact pitch. (This 15 because og the

le about accidentals }asﬂng ontil the next barline — discuss this more vith Jour feacher!)

3. Copy out the melody, including any original accidentals PLUS the sharps you wrote in!

o @ o -9 _
[ 1 } =

"
H 1 1 |

L ‘ﬂ g ‘

1
¥

Terrific work! Now rewrite the following melody in E> major, without a key signature. Follow
the three steps above - especially the bit about including the original accidentals!

. (“‘ese accidentals il sfaj!//l 3

#L I |
1 7,9} | | 2
&5 e e e e
1 . L |
Q) + '.1
3
3 3
‘9 ] —— ] iL
# —— m— — ST
i 4‘&?/4‘ . — — b%— T
© P e

\Q\ Naturals ¢

The only thing to be VERY careful of in these types of questions are the naturals.
Naturals can really ruin your day if they occur on notes from the key signature! You have
to check where they occur in the bar and think about their function. Discuss this more
with your teacher, and go to www.blitzbooks.com for more worksheets on this!
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Revision of Everything So Far

<=

>

1. Rewrite the following melody with the key signature of D major. (MNake sir Jou inclode

any necessary accidentals.)

Ao

49 ﬂ — 1 .—. e - oy —
y : it % - =@ | Hc:ﬁﬂFl
6} 4t p ™ N il ———
H e 1 P Y S -
[ an | — i i = ] . —a T ——
\Q_)y p s [ JI';-"‘”I T | R L‘__J } | [
2. Write the tonic triads represented by these major key signatures. A
Q .o TP Q f) 4
! D - ] = 1 7 = O | (2 7 =
12 &) hdll NPT =4 V AWN =4 — Y1 7 [N y AW =
| £ anXd ] AR | FanNd = VAR | HanY =5
AN [W]) b AND"4 vV NV icmed
[y e [Y)

3. At each place marked with an asterisk, add the correct rest/s to complete the bar. A

* * * *

I % :
=% - —e P O = = —* [ 4 L ~
5 ] =4 ® O — e F 4
= — | — |

|_3_|
4. Worite the equivalent sounding notes, using a different clef. (Make sure Jou drau the c)EEU A
he-
(—— — > 7 - r—t
SV g i =" N ) VA
e A 'y)

5. There are eight errors in the grouping of notes and rests in the melody below.

Find them and correct them as you rewrite the whole melody.

Ll B oo Ol |
) I3 73 / | y N 2 ) ! ]
L] - .
7 & [ & & & | P
D= | ¢ — i |[ 4
- - B . .
) 3 i
e e = o =
7 —_— ! o —



6. Name this interval and state whether it is melodic or harmonic: A

© 200 — mylodic
()
7. Which of these notes does NOT belong to the key of Eb major? (Cirle correct ansuer) A
PaN i -e:“)
ﬁ ~ LN Z 1
ey (@)
[ FanY ] e
NV by
rY) [ O p—
O

8. What name would have appeared on Darth Vader's birth certificate? A

(Okaj this s not rea“J mision) __ Ano ko Seuba Liker (f"f”-.fk.‘ e Lorce LE Wik youw
9. Here is a melody. Follow all the instructions below! /é)

) A ——t
o o -4 P—— : - z i

: —— 2 AW ; L

o [ J & :ﬁw. [ & \//,-Qi & ~ 1 | V\_//

*  Add a clef and key signature to make it E minor
*  Find all the 7th scale degrees and raise them by one semitone
* Draw a rectangle around three consecutive notes that make up the tonic triad
*  Add the missing bar-lines
*  Circle all the intervals of a 4th (nelodic itenals OE courst... this 1s @ melody!)
*  Add rests in the correct order to complete the final bar
*  Draw a triangle around the shortest note in the melody
10. Check out this note: jrm; S It is the... A

D)
*  1st scale degree of D major

* 3cd scale degree of B major

| .
* UHh scale degree of A minor

TO'I'O' . /62 «7 N Tlat's a random iotal, s 1 14777
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Halving and Doubling

-€

Here are two rhythms for you to clap. Observe the tempo markings. What do you notice?

Adagio Allegro

S o
I/ I ] - o I | | [ I
L = =i -—— - Lo T e |

That's right, they sound the same, they just look different. See how all the notes in the %

rhythm are double the value of the notes in the % rhythm?

In your exam you'll be asked to rewrite a melody with all the notes either halved or
doubled. Let's do some quick practice on this by completing the table below.

(Hint: Keep the number of notes in the group the same. For example, ﬂ becomes ﬁ )

Halve these J_Jl_Jiﬂ JJ)J) o J L

Doble these | 2 = J o dome I O 4 = H

When you halve crotchets info quavers, or quavers info semiquavers, you'll need BEAMS!

So, ZJ n J becomes g) ﬁ J\which becomes gJ o o

o

If you write the new halved or doubled note values above your given notes, you will then

more easily see which notes need to be beamed together.

Halv& i 7\9 ﬁ ®

bl

U

(& | | [ = @ : : F

R

N
\

o
N

YT

u\&

H
.

Dokl -
this: %ﬁ_




TOP TIP: When you halve or double the note values you are changing the bottom
number of the time signature. The top number is not affected at alll

Rewrite these melodies with the notes and rests DOUBLED. Remember, it's helpful to write

the new note values above the given melody. The good news is, the new time signature and
the first note or two are given to you (gagf).

f - Lo w‘
o- £ O d & # o d
é 5 |

.
A [ / T |
’ 4 . -
- o € :
f-o L ™ ) = ﬁd—' o ©
————— 1
{
1] ‘ t ’ t
K|__ }
— — N—= = * ; ¥
VA U L ) K & 1 <
P2 i I | _
i | gt
J : '7 i
4 v {-7-__;(
w i = 1. [
G ——— — G e
Y, v ) . S
Fantastic work! And now, rewrite these with the note values HALVED.
CJ ﬁ! / ‘ g % _/"ﬂ
A - ) Ty o # |\' T i N
R it T — . Il - g —7 . —
T A ~ I/ 1 hull | [ D |
LA I }
n J o
rT3—| E & © —3—
| |
S — = A
@>2=c*9o &> 3 i -
(Y o ] =
= I\
Tl 0 e |
2)p 3 )y te | —
a7 S — I £ H5H — L_4 — 1

DID YOU #NOW... in Darogue times (that s, around 16001700, s0 a UERY long time

ago) the {ime signature vay used a5 a uay OE 'anicat'lng the s?eeé. Jo a plece n 3 s

N

o,

usua“J 5]0»:, a plece In 2 uas moderate and @ piece in % Was Usva“j East!
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Fix Thesel!

-

Since grouping is so important when you compose your own rhythms, let's practise it some
more. Rewrite these rhythms with the correct grouping in the 'Fix it up’ column. The sound
of the rhythms must not change, so don't change the order of notes and rests!

Wrong X ij Is it urong? fig it UJ)! \/
I e LR
ubuppPolliratsvronli FBrsplivep
b Iy eminlid v b by
BRI eiietsiosvndl R
3 - Must not group 2nd and 3rd | 3 |
2J minim beats together 2 o ™ -
1> M | S | T
R it RS Tp R
W p PR R hsvoitwtin P PR Y
§AIDA | S |§ TR I
3000 o |t |24 d o




‘Time' to Practise

€ >

1. Rewrite the following melody showing correct grouping of notes and rests.

‘; | nal N\
L [ Y
y 7 %] L%} < 17 )
&N 7 | e/ / o/ » L/
NV 4 D] et 7 | 4
[Y) 4
!; | - ] ~
L ¥ ] ’ ‘ )
y AU T i ] T . A= = ‘ _
[ a0 Ll - — ] - 8 7 e ]
ANS7 == ] ] ‘ - I 1
Y] ] 1 | =

2. Now that you have fixed the grouping and beaming above, rewrite the melody once again,
using notes and rests that are twice the value. (The Leginning Is done gw Jou, @ usial)

'F. i |

I

%
AW
end

- _— [P) 7
Y 4
~ N
r\:j,\'\ ul ?}J %_ lb.d“/1 :\

* * * * *
() & A\ |
##%—)%ﬁ—. ————— —
=] & . ) ~ :;5 ] 7 -l
ANSY/ < 74
')
3

f-aLUIOUS uoru




Switching Clefs

<€

One of the things you have to do in your exam is rewrite a melody in a different clef
without changing the pitch. We've already done some of this kind of thing (see pages 19
and 42) so this page will be super easy for you.

When switching clefs, leger lines are usually involved.

So this note g sounds the same as this E not this! %

Write the treble notes that would sound exactly the same as these bass notes (remember

‘ ‘Té

to adjust the direction of your stemsl):

Fax ! n Y -jﬁ- n 'Y })‘O n
) | i —— 1l —
D= D= — DR
e bo-

And now do the reverse... write the equivalent treble notes:

N S S —
) J 72— (& 7 (&) 7
[Y) e :F;: [Y) h;;

OK! So now it's time to try this with a melody. The good news is... in the exam, the first
note or two is always done for youll! How cool is that? You just need to follow the shape and
rhythm... and don't forget to adjust your stems!

Rewrite this melody in the bass clef, keeping the pitch the same.

eésiup
DD

= ! |
p-— ’
& - & o g T * g € < <
4 K 4 ~—————
- gy /_\-_ > -~

- N :’t R - =B - - - =

%_P I I I I ] 1 1 I

. T . 4 I 1 I

77, | : 7 =] 1 !

R 3 | ~

6o to www .blitzbooks.com for more FREE theory worksheets!
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Timed Test II Tias

-

Once again, time yourself doing this quiz. Do it as fast as you can, but remember your

>

teacher will ADD ON 10 SECONDS for every mistake. Start the clock!

b
1. Name this tonic triad: kth

2. Write the correct time signature for these rhythms:

—3
-+

|

A I
i Y 2 I

3. Complete the following bar with semiquavers:

Q—L: i g

4. Name this interval: —Z i

5. Rewrite this short melody with all the note values doubled.

i

\
N
] & W 3 1 g -
T 3 :

. 1
MN' : )

@ [ | :
| E—— J ¥

6. Rewrite this short melody in the treble clef, keeping the pitch the same.

»- .
r 3 1— - - .F.

P YO 2 ) lf l’ | WA
| L |

o
PZI ) ) = ~

| | o i
———— ; [
—¥ o °

= e

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

[ 1T made no mistakes! [
Lee? my time OE ‘

L1 made _ pistakes.

My new time i
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Rewrite Thisl!

D e >

You're about to rewrite the following melody FOUR times. With each rewrite you'll give it a
brand new look! But will anything happen to the sound???

B #

i
g

-
1. Rewrite it with all the notes beamed/grouped correctly.
A ) —
R e R : : o ;
Y 1o —#4}:; - ! ‘J‘ = =

2. Keeping the correct beaming above, rewrite the melody using the key signature of
A major. Remember to include any necessary accidentals.

]
1 1 J— | I

- o o

T
]
o

3. Keeping the key signature, rewrite the melody with notes and rests of TWICE the value,

using the time signature of 3.

¥ 4\ "l{’g N 1 - — ;

ot e, — ‘
Y, o | 1 _J: ¥ O e -
-&- ‘} & i: &

4. Finally, write your 'new-look’ 3 melody in the bass clef without changing the pitch!

B - -
a P B , Ve o i
—4" = ) "4 } 1 ] ) H
S D5 arsiars) f ! T P:I I i F: i
y_ARLAL ¥ TR 1 ~= i T 1 T 1 H 1
L — 1 H ——. I

Now go and play all of these melodies on your instrument (Unlm gou Pfaj the JrUms in ulnc'\ case, Jont uorrj
abost ). What do you notice about the sound? The melods LNO X !




Fill in the answers to the clues below, and find the secret message running down the page...

Box Puzzle

- >

it's what you have to do in harmonic minor scales!!!

WX NOoOo AW

e el e e
O A W N = O

b e . -
TIOIN |V |C|TIR]) A D
%18 LialT(m|a]|glo]r
SRleffalrfedv]elm]ijno|e
IR | sle |
S.0 2 | )
o ViV L 2 s
' -
>IN L | K |
R ) . \
! TTHIRIE |E|& A =
F>, N - M
J | T J L
4 A\ \ T
101 ~ : i | e .
D107 N R I i L
I
9
12 < f
BANTINTE |7 H | K
4 — - ~, - o
A cClCl ] AP I AV F
AR O { | E - EIS|IT ALV |E

Three-note chord built on scale degree no. 1. (two words) tons cod
Major key signature containing two flats. B rlat major

Major keys share their key signatures with the (e Lﬂii‘fﬁ 0T key. (two words)

In harmonic mmor‘ scales, the 7th note |s alwaysg ,S€ A

% 3. and 3 5 are all examples of SU’M 1 t’L“L £ __ time signatures. (two words)
1

Type of minor scale that is not melodlc or har‘monlc nofural
)L . (two words)

The key signature of A major contains {:r\f
Half a crotchet. q/mme.
Ttalian term meaning moderately short and detached. (fp. ) rrezzo stoccato

. Single note that would fill an entire bar of % dotted cemubreve

. Symbol that indicates half a bar of silence in g time. Semibreve rect
.G%is the Sevéntin  scale degree of A major.

.42 + 51 = 2 (two words) 1 (y ¢ty Lhree

. Sharps, flats and naturals used oufsnde the key signature. OLCCuCLLP tals

'y

. Leger lines are small lines written either below or 0.DOVE ":'.-“x'(: S /€ (3 words)
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Terms and Signs

—-

-
«

There are quite a few more terms to learn for Grade 2 (oh wtll). The terms listed

| below are in addition to the terms for Grade 1, which you can download from

www.blitzbooks.com. Also check out How to Blitz Musical Knowledge!

allargando

andantino

assai

con

con moto

dolce
espressivo (espress.)
forte-piano (fp)
giocoso

grave

grazioso

largo

larghetto
maestoso

meno mosso
molto

non troppo

piu mosso
presto

senza
sforzando (sfz or sf)
simile (sim.)
sostenulo

tenuto

vivace/vivo

becoming broader
literally ‘small andante’; slightly faster OR
slower than ‘andante’ (walking pace)

very (e.g. 'allegro assai' = very quick)

with (e.g. 'con grazia' = with grace)

with movement

soft and sweet, sweetly

expressively

loud then immediately soft

playful, merry

very slow, solemn

gracefully

broadly, slowly

rather broadly (i.e. not as slow as 'largo’)
majestically

less speed (slower)

very (e.g. 'molto espr.’ = very expressive)

not too much

more speed (faster)

very fast

without

a strong accent, forced

continue in the same way

sustained it
'held’; hold note for its full value/ i
play with slight pressure %\W

lively and spirited




Sign Name og Sign Meaning OE Sign

accent play strongly

B )

hold for full value of note/play
tenuto

L 1

note with a slight pressure

mezzo-staccato
moderately short and detached

8

(on one note)

mezzo-staccato
r r r ( ¢ than one note) moderately short and detached
on mor n oné no

strong accent
play strongly

8>
<Q

(also called 'marcato’ )

staccatissimo extremely short and detached

— -
-

There is some expression and articulation missing from the melody below. Follow the
instructions to add all the ferms and signs... then play it, or ask someone to play it for youl

Z_OIQO
T 2 3> A4 r 5 6
9 ﬁ . ® - e 5 vy
'_L Ll 1 I ] - ~ L) ¥ 7 L 4 ‘P‘
y b O 2 -7'__?gﬁ"* ! r i 1
&% = : | ! |
Q) 1’ ' == I—
< TEND LG

Add signs to indicate that the notes in bar 1 are to be played mezzo-staccato.

Add a different accent sign to each of the crotchets in bar 3. (fnt: tento s a type OE accent)
Add the abbrevation for a ‘forceful accent’ to the last note in bar 4.

Add an Ttalian term to show that the melody is to be played rather broadly.

Add signs to indicate that the notes in bar 5 should be extremely short and detached.

Add an Italian term to show that the melody should be slower in bar 6.

*» % % % * » »

Extra challenge: rewrite the melody on the spare manuscript at the back of this book,
with all note values halved!
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Yet Another Quiz

- >

This quiz includes questions on terms and signs from Grade 1 as well as Grade 2. Make sure
you go to www.blitzbooks.com for a complete list of terms and signs!

1. Explain ‘Sva’: lov an odtou

2. Write the Italian abbreviation that means loud then immediately soft: 1':

3. The definition of a friplet is heee notes plaed / 2 of £
oL E.q L 2
4. What does ‘fenuto’ mean? )’\(OL/" Loc L /q { Ly J b
'1‘1-- ] | -

5. Write five Italian tferms for tempo in order from slowest to fastest:

| / :
= | n ) . Y - 2 e
LCL{":? ) an_(AONTE o LLeAren IV GLE pce STo

slouly ata ua“dng pace moJerateU Eaat liely and splrited ’ very East

6. Explain M.M. J=60 60 beaks pec o

7. Give the Italian and English meaning of sfz: QLO* ANAD — A STOo

8. Add a mezzo-staccato sign to this note: r

9. What does ‘staccatissimo’ mean? _Lxtren *ff'-«“(’ Shooct and delacied Draw it here: &J

~

10. Translate the Italian words in this sentence: The boy was molto giocoso after he ate his

chocolate with piu mosso than his mother had ever seen. "Non troppol’, she told him!
molbo gqlocaso: V€Y ¢ layful { WA MOSSD: more Speed

|
N

FNleY '\ ; o ,", . X L
11. True or false: ‘andantino’ can be mTer‘pre’red as slower' OR faster than andante. 1(1.€

Fa

12.Explain the difference between largo and larghetto <0040 «~ ~ OWEr L7 de




Use Your Skills

€

>

The final question in your exam paper is always centred around a melody, about which you
have to answer questions. The next three pages will really prepare you for this! All you need
to do is apply all the knowledge and skills you've learned so far in this book.

You will also have a ‘copying’ question just like you did in Grade 1. This is to assess the
neatness of your music handwriting, as well as how well you observe details in the music.
Read the question carefully: you may be asked to copy a specific part of the melody, for
example ‘copy from bar 5 to the end of bar 9'. You do not have to write the bar numbers.

Here we go with the first melody, by Haydn. Study it, then answer the questions below.

Andantino 2 3 4
“ ] L
5 . i
ﬁ—’w st i et
)] — ~___ . 3 ' r—
p ———
A\
n T'_ - - :!.;:_ ) & - o] #:: .F. & y N _
AN ! | — -
%Qii = — L i
57 S e
mf rit.
* What does 'p' stand for and what does it mean? [,ElLOJL 0 ~§ »’Z

* True or false: The melody gets slower at the end. Truwe

* This melody begins on the tonic. Name the key. & maior

*  Which two bars contain notes that do not belong to this key? © 7

* How many bars contain triplets? 3

gy}
ol

T

* Circle the highest note of the melody. Which scale degree is this?

On the staff below, copy the melody from the beginning of bar 5 to the end of bar 8.
Remember to include every tiny detaill

f - o 6 ﬂ 7 8

gy FoaPf Srafea.. . b

T i T T — i 1 it T —+

) = D - A} ) —t
3 I — P % 1

3
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Here is the opening of Invention No. 8 by J.S. Bach. Answer the questions below.

Allegro non troppo /’—’_\
4 ™ 2 7 a1 T AT Pl P
y 4T 7 :' - o ] SR N | . :
) =~ T = \
Alleqre r r-r,"",a",.';;r o > L e
A te T Peaeac g
\L‘i - T - R ;‘:l:
* At what speed is this music to be played? ]"/G.fi’?; but not too mud

* Name and explain the sign on each quaver in bars 1 and 3. _[V\ez 2¢

* True or false: This melody is in F major. __(1.C
* Place a square bracket over three consecutive notes that form the tonic triad.

* What is the name and value of the rest in bar 1? Queo Ve St —half

* On the staff given above, copy bars 1 and 2 only. Make sure you include the tempo
marking.

Great work! Now here is a melody from a sonata by Gurlitt.

Grazioso

2 3 4 5 6 7 8
e e e e e e S e N —
e e e
[Y) ~ [ r1T1 Y | ! S
mf sfz molto rall.
* What does 'Grazioso' mean? 7 (0.CE Uy
B, { W ’

* What does 'sf7 mean? _ S-o¢ o000 — o SO0

* TIn which bar is the performer told to change tempo? _2 __ Explain the meaning of the

Ttalian terms indicating this. \/6“-{ aradnally

W



* How many bars contain the same rhythm? 3

* Explain the time signature. | n 0 <4

On the staff below, copy the Gurlitt melody from the beginning to the end of bar 4.

wrazust n 2

o - 1
0, I v~ ~ N o
o —— = T = r—
¥ » <7 -
T w7 w1 : n  S—
A% 7 o o : ’ 3 1 [ e 3 ] 1

A

~—7 T f T i I ‘
i

L5

Here is one more extract, from a sonatina by Kuhlau.

Presto

> TN
ﬁ = ) i o @ @ 7 ! i
& 7 ] | I | ] I ¥} | 4
| & an YA A I | . | | /
ANV | [
e) l
5 sz O\ 6 7 8
i . . T e
‘9 ® . o — T . — hf\ S
Y 4 ] & 1) | I o 1Ty 1 = Je &
E £an) [ VA4 I I / 1/ {7 7 I I o ¢
AND4 I | 4 I I |
Q) .
——
3 e s — _A— 6
f =y - & ; :% il -
7 A— : : — i — ———
\‘,I/ : ] ki ¥
. L ! Q
* How many ties are in this melody? __| How many slurs?
* How many crotchet beats will the first note of bar 2 sound for?
* C(Circle a note that does NOT belong to the key of the piece.
* Explain the signs over the minims in bar 1. [0y o~
noke s s ¢
* What does 'Presto’ mean?
* How many bars contain nothing but quavers?

On the staff above, copy the music from bar 3 to the third beat of bar 6. Draw the clef.
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Word Search

- >

The answers to the clues on the opposite page are hidden in this grid! The words could be
forwards, backwards, horizontal, vertical or diagonal. If you spot a word easily, see if you
can match it up with the correct clue!

!

|~ |o|c|4|m|o|<|0|o (D | D

(“\
|

o|z[o|z|mlx|z[-|m[>c/qle»

Q|x|m|H

|

Zzmomold/>d|l<mojOo/m| >
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£ L Sl
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|

—H|—[(m|w|=|>||—|mO|D|r 0|0

N

m[o|m|x|z[o|d >

i

—4|=|o|r|z]|n|r|m|e]z]>{=2]-

il

—lo[pojwo<|-[<)
x|=|z|[4]2|o||>|=

:
\

»|m|o|DN|>|=Z

—

O|o|-|-d|m|o|jo|=x |0+

£ i
]

|
=TTt

o(o|o|O
oln >

N d®

O|vdi—|=|d JU-<\\ (w) ;r'!—l (= Vl'ﬁ\ (o]
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=
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~|
Z|o

>m=/z /-

Go to www.blitzbooks.com for FREE worksheets, games, flashcards,
manuscript and MORE!




Clues

€ —>>

1. Symbol used to fill a whole bar of silence (also known as a semibreve rest) (Three words)
\[\ ;\ bar (est

2. Ttalian term for 'loud then immediately soft’ Forte-puano

3. Italian term represented by the abbreviation 'sfz’ Sforzando

4. The time signatures 3 and 7 are examples of Sunple f:j\,;"_jf 2 time (two words)

5. Name of this interval: ﬁ Third

6. This sign r means mezzo St CCatlm

7. In harmonic minor scales you must ratSe the 7th note

8. Name of this sign: '173'] Tf‘;?t@—

9. Ttalian term for 'soft and sweet' Dolce

10. A single note worth six semiquavers (two words) (hintz there s a dot involied) Deticd coote,
11. Two-letter abbreviation for clue no. 2 ,f_p

12. Ttalian term meaning ‘movement’ or 'motion’ (o)ften seen ith the vord ‘con’ LeEOre it) Moto

13. E minor is the relative  minor of 6 major

14. Ttalian term meaning lively and spirited (four letters) Vivo

15. You must raise the 7th in minor scales with an _0.CCigdento.

16. The Italian word meaning ‘with’ that was mentioned in clue no. 12 Con
17. Bart's sister's first name {fes, bart S‘lmpwn) Lisa

= J J
18. Name of this sign: Accent
19. Intervals that are written side by side are called m elodic intervals
20. English translation of 'molto’ 7,

21. Ttalian term meaning very slow and solemn (zcove

22. Chord built on scale degree no.1. (two words) Tornic 0 nd
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The Absolute Final Revision Test

- >
1. Rewrite this melody with correct grouping/beaming of the notes. /o
Y I —3—9:? ! : ! "4 ! lr) 7
v ® 7 7~ —v '
! el 19—? I a i N 7
2. Circle two consecutive notes that make an interval of an 8ve. /1
3. Name the key of the melody: (x_major A
4. Name another key with the same key signature: E_minc /1
5. Turn back to page 53 and study the melody, which has had lots of terms and A)
signs added to it (Lg Jou, uhen you did that page, ‘xoPeEu”ﬂ. Copy it out herel
,i.m'qo
—P-/\ . 2 32 A Y # ; o
() s @ : — a = » _ LI N BN
e S B S s i — T |
e e iES==st==
¢ - = —l V
P —_— Mene MOS0

6. Add the correct clef and accidentals to make this the scale of E minor.

o © Fo

1 P O © ﬁ- 1 - (@ ) o )
oY S (@) © — (@ ]
7

P O 0

| !
Which form of the minor scale have you written above? )"‘ rononLe




7. Add the missing clef, key signature and time signature to this melody in A major.

Then add the missing rests at each place marked *.

/4

o * * * *
e 4 o il —3— |
A5 o ® } S —— P —— —y =
oy 1 L ! A T 7 ] [ d [ I = & [ d
A7 o o | 7 !\ 1 I [ =
. |_3_| |
8. How many semiquaver rests are there in a crotchet rest? ___ A
{ o~
9. Just for fun, name the capital of France: oS A
10. Write three different time signatures for simple triple time. /
. . . 6
Then write a single note that would fill each bar.
| , |
> | 3 o —
i L2 Y 10 i.
T
11.Rewrite these bass-clef notes in the treble clef, keeping the pitch the same. /5
o § e, )
y *): s d— ). A
V4 [ 4. V.4 n T Z [ .Y
\;jl \5} DCJ \‘O\l —
=~
) < 9
rax ) 4 raY) i
bl I V ¥ I Y
Z a .4 [ 7Y
ANV ARV
) o R
12.In which major key are all of these notes found? __D” " a1 O A

Total:

/50

61



Mad Multiple Choice

<z
1. In harmonic minor scales, we must

A. raise the 6th and 7th notes
\’B) raise the 7th note
C.

raise all of the notes

2. When deciding the key of a melody, it is important to

A. look at the key signature

B. look at the last note

C. check for accidentals

D. check which clef it is written in

| E.) all of the above
\__/'Jf
3. The definition of a triplet is:

A. Two notes played in the time of three notes of equal value
B. Three notes of equal value played at once

@ Three notes played in the time of two notes of equal value

4. In % time, all the quaver beats should be

;‘ A beamed together
B. kept completely separate

C. friends 0

S PR IR P

A, 37
/B.) 8
c. 9

-

L N e



6. This signn —/———

fills a bar with silence in

A.
B.
C.) all time signatures except 4

7. In Grade 2 we have to learn

N
@ more Italian terms than in Grade 1
B. fewer Italian terms than in Grade 1

C. no Italian terms

8. Circle the correct sign for 'mezzo-staccato’ on one note:

9. When composing a

~ _ N
A. r B. r U/
rhythm, we should try to:

A. use crotchets and minims ONLY
(& ) have a good balance of contrast and repetition

C. make every bar as complicated as possible

10. Accidentals in music last

A. all through the piece
[ B. \r until the next bar-line

_C until the double bar-line

11. Melodic minor scales are

A. major on the way up and natural minor on the way down

B. annoying

AT,

g ) natural minor on the way down

63
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12.  The relative of F major is

A. E minor
B G minor
C D minor

e

13. Accent signs look like a miniature

TN

/ 3 . .

/ A. decrescendo sign J B. crescendo sign J
\ / > -
\

14.  When rewriting melodies in different clefs, you should

follow the shape

adjust the stems

o\n w >

| all of the above

15. The whole-bar rest hangs from

/ A/ the second line
N
B. the third line
C. the fourth line

16. We must raise the 6th and 7th note in

A

C. triangle J
>

double check the first note is in the correct position

C A. melodic minor scales ascending only
—

B. harmonic minor scales ascending and descending

C. melodic minor scales ascending and descending

17. Never group quavers in fours if

A. they are at the beginning of the bar

B. / they cross over two different minim beats

T they don't like each other



Test Paper... sort of

- >

All theory books end with a test paper, but this one is DIFFERENT. It already has the
answers in it (mOstLy urong ansuers!) and your job is to be the teacher - you have to mark it.

When you've found all the mistakes, go to www.blitzbooks.com and download the EXACT
SAME PAPER - this time with no answers already in it. See if you can get 100%!

' 0 08 8 8 & ¢
Theory Paper Grade 2
Time allowed: 1.5 hours
1 Add the missing bar-lines to these two melodies. 0o
The first bar-line is given in each. "
49=LLQ (> — = r — x
! l D—F—F <7 —7—%
orofo—s 1 E=is 7
49 “ P e = b . | 4
dpa © 5 = < E S—
R fax WA ) - - j f 7 7, o . s i = —4
VYV A | ] 1 | ~ 1 A <
DA ' ' ' !
2 Add the time signature to each of these five examples. 07
. - -
| P ——
| T4 él I [. =
b — — |
= T i s e S
| 1 I 1 e
o ' =
4
" - )
G e etk
.) i 1 e | = | l
3 3 3 3
“ //. V4
} > o \ !
2 & | |
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3 a) Name the degree of the scale (e.g. 2nd, 3rd) of each of the notes marked *, 0 —
as shown in the first answer. The key is A major.
% % * % % * * *
i 3 -,
o : - ; {3 T  n— -
¥, \J 7 '
e N & I
th KL bxh Yl Tl 3 | Agst

T

Y LAL

b)  Complete this sentence: Each triplet in bar 2 means three quavers (eighth notes) in
the time of C\BU"J‘.I,\ ..............
¢)  Draw a circle around two notes next to each other that are a 3rd apart.
4 Add the correct rest/s at each place marked * to complete the bar. 0
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5 Rewrite this melody in the bass clef, keeping the pitch the same. 0/
The first two notes are given. =
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6 Write as semibreves (whole notes) the scales named below.
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E minor, ascending, with key signature.
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Which form of the minor scale have you used?
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A major, descending, without key signature but adding any necessary sharp or flat signs.

N

Write the following tonic triads with the correct key signature.
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8 Tick one box for each term/sign, as shown in the first answer.

sostenuto means:

play with slight pressure
sustained
strong accent

very slow, solemn

-
r . means:

heavily accented
hold for full time value
marcato

extremely short
and detached

]
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meno mosso means:
with movement

becoming broader
less speed, slower

more speed, faster

sforzando means:

lively, spirited

/S
strong accent, forced g

sustained

short, detached

]
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presto means:
very fast
expressively

playful, merry

00 O

not too much

33—

J J J means:

three quavers, slurred []

three quavers in the
time of two crotchets

three crotchets in the ;
time of two crotchets

three quavers in the
time of two quavers Q/



9 Look at this melody by Clementi and then answer the questions below.
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Write your answer to question c) on the stave below.
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a) Give the meaning of:
7
(i)  Vivace I—‘V&’_‘jOr\O{Sf’l(‘\‘hﬂ(/ ..............
(i) A (eg bars 1and2) . @eeend e
(i) > (e.g bars Sand 6) ... aScent. ol SEoad
(iv) The ‘4’ in 2 ..... is—the bottom mumber o0 o tc =
(v)  The flat sign at the beginning !S*L\&Klgsljr\o\*‘“f‘?— a\o!
b) (i)  Which bars contain notes NOT belonging to F major?.:..‘..[‘.l?....'.'.'....7..15.... 5
SMGOEN ".r.}; —
(i) How should the quavers in bar 3 be played? A‘-'ﬂ’\‘-*-o\sf’OSS tle
(iii)  Which bars contain the same rhythm? L 2 A
(iv) True or false: the entire melody is to be played at the same volume. YQF‘
(v)  Find and circle three consecutive notes that make up the tonic triad.
c¢)  Copy out the first four bars of the melody, exactly as it is written above. 0L

Don’t forget the clef, key signature and all other details. Write the music on the

blank stave above question a). Marks will be given for neatness and accuracy.

;' Hou did yoo g0 marldng this pa?er? Did goo finJ lots og mistakes? Mo g0 to s blitzbooks.com and

dounload the Uncom?]eied ersion. Oood luck!
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